EARAROBEEIERT — 2 N— IBISH —F

201558H 158 (£) 2EI#R5H

SR N

5

CES)

[($57E] Fikb

‘ [R1&] & ‘ [REBE] — | Z (%) 18000 B

[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
TSP o2 | AEEE 1:51.7 13-13 | 32.4| 785 | 4 466 | =ERAN (ER)
1|70/ V7 7>>2 54.0 (=) () | B FravbTr—L
R:F14—TA4> 8 B:LTFa K=" =Y Tr—LA
S M. FL—A :51. - . . DNEEAESA (357H)
2 4| Tty MUK e 5420 1(75L>7 " 0.5 7681 9 (414) Bl
R:F4=TA>NNT b B:vYyIR-—v322 MEE
. it 2 | EHEEH 1:52.0 6-7 33.1| 74.3 | 1 480 | EEER (FER)
3/5|6| 7 ~A * 54.0 @) (—) |H Ho Y247 /K
R:ZAFAd—I K B:XTUCTL1> H—L— - JvIN> - Ty—LERR
K B ff— . - BAE ()
a1l ®@xFvFTvy o2 ik (11512/42) 10-12  [33.0] 72.2 | 5 (454) L
AZ:Rip Van Winkle £ :Divine Power Mill House Stud
; T 4 o2 | BRBE 1:52.4 4-5 33.7]69.1 | 9 450 | REEEB (EiH)
517/11|F1 74X 540 (1 1/a) o =
R:TwINEry b Bir—7a-30 FERHKS
. 42 | ENEAS 1:52.6 3-3 34.2| 62.6 | 8 482 | RHRE (i)
61813 77x¥2EUAH 54.0 (1 1/4) (—) |NB=S
LY LFAN—b BHTXEFTTRY T REHS
A VD 2 | FlBEKX 1:52.8 6-9 33.8| 64.8 | 2 450 | BEBE (ER)
7 2 I T+ R % 54.0 (11/2) (=) (%) &4/ v
L:F1=TA NI b B XXHTIT K J7r NiE
= 42 | HHEXH 1:52.9 12-9 33.8| 63.8 | 11 468 | BTHL ()
gl 5| axEERS £4.0 (1/2) o | @ EvTLykTr—u
R:aA>FaM4y b B:vLTF—LRA EvilLy RTr—L
= 4 2 | JIEHEBES 1:53.0 2-2 34.7| 55.0 | 7 416 | BEEZ (M)
9 8 L7571 —t 54.0 (1/2) (-) (%) L#
R:T7RI(YL—> B:T75T—Fv>T FH XA
s =3 f 2 | KREER 1:53.2 4-3 34.7| 53.5 | 6 448 | KEFEL (FiH)
101812/ @71 >TILT IR £40 d 1/4) e (H)E"J»r‘/
A:Arch £F:Walker’s Gal Colts Neck Stable
A # 2 | RLRKA 1:53.3 6-7 34.5| 54.5 | 13 | 448 | BRI (E#)
111517 TALHE R §4_0 (3/4) <) Bk
Z:vA7x BeEI/HAUZX milll 1EZE
N EmEA . _ BARE (E#)
12 3| /7T b - i 2 e (11513/45) 10-9 34.5| 52.9 | 12 <4i6) bl
L:gr—3I)T7> BFAXTL—I FH #A
5 A 4 o2 | EHEE2 1:53.6 6-5 34.9| 48.8 | 10 | 480 |IEHHIL (X#)
1308 9| 7 —>~XL— 54.0 (172 (o |mEE
R RUYIYXIX B:N=UH ¥ Sie ]
@ 71 L
) 46.5-33.5
NO>24 L | 13.4-11.7-12.6-13.9-13.6-13.0-11.6-10.7-11.2
@ 1—F—@&BIEf
12—7—
23—7F—
S=57= (¥4,8)-13(12,11) (7,2,6,9) (1,3)5,10
40—F— (x4,8) (12,13) (11,9) (7,6) (5,2,3)1,10
[ RN
B OB 10 830H 714K 4-10 550M e & 4-7 1,340 &R 4-6-10 1,190H
% B 10 180 6-10 4700 | | BB = 4-10 1,510/ | | 3=& 10-4-6 12,270
4 140 4-6 280M B H 10-4 3,550
6 130M9

ABICOVWTRDTEEERROODE. TR LIV,




